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Volume and Area of 3D shapes Past Paper Answers

GCSE Edexcel - Calculator

No with 4 M1 for method to find the volume of compost needed to fill one or more
explanation and 2
supportive baskets eg 3 x 7t x 20° (= 16755(.16...))
working

Or % x @ x 20% (= 33510(.32...))

M1 for appropriate use of 1 litre = 1000 cm’,

eg 4 x 50 x 1000 (= 200000) or “16755” = 1000

M1 for complete method to find values needed to make decision
C1 for conclusion supported by correct values,

eg 200000 and 201061(.92...) (accept 201000 to 201120)

or 16666(.66...) and 16755(.16...)

or 11.9(36...)

NB Calculations can be in litres or cm’

2.
stion |  Working | = Amswer  [Mark| 0 Netes |

(a) 65 5 M1 for splitting up the cross section into separate areas and a method
to find the area of one part

OR for splitting up the pool into smaller prisms and a method to find
the volume of one small prism, ¢.g. a cuboid

M1 (dep) for a complete method to find the area of the cross section
[with correct dimensions] OR for a method to find the total volume
of more than one correct prism

M1 (dep) for a complete method to find the volume of the pool [with
correct dimensions] (= 195)

M1 for “195™ x 1000 + 50 (=3900) oe where *“195” comes from a

volume

Al cao

(b) [ 1 [Blcao
No + reason 4 M1 for intention to find the circumference

eg 140 x n (=439.82...)

Al for circumference = 439 - 440

M1 (dep on M1) for a complete method shown that could arrive at
two figures that are comparable eg “C"+60x12 (=87.96..) , 90=12x60
(=450) , 90x60+C” (=12.27), “C"=90x12 (=58.64..)

C1 (dep on both M marks) for No and explanation that shows a
correct comparison eg only 84 people could sit around the tables or
that 13 tables are needed or that 480 cm is needed.
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14.4 M1 form x 6,57 x 11.5 (=1526.42...)
'1526.42...
M1 (dep) for ————"
(dep) for Py
Al for144-145
OR
58 65
M1 for == or == or 0.89(23...) or 1.12(06896...)
2 2
Mifor 115+ (22) or 115+ (£2)
Al for144-145
e x152x 40 8250 R B1 for 15cm as diameter or 7.5 ¢m as radius of smaller cone
3 may be marked on diagram or used in a formula
—3Xmx 7.5 %20 (may )
M1 for a numerical expression for the volume of one cone
eg. §>< 1% 157 x 40 (=9424...) m-§ X% 7.5% % 20 (=1178...)
M1 for = x @ x 152 x 40 0e = —x x 7 x 7.5% x 20 oe
Al for answer in the range 8240 — 8250
OR
B1 for 2*
M1 for a numerical expression for the volume of the large cone
cg. %x X 157 % 40 (=9424...)
M1 volume of frustrum = = x = x 1 x 152 x 40 oe
Al for answer in the range 8240 — 8250
No 5 M1 for splitting the cross section into separate areas and a method to find the area of
with correct one part OR for splitting up the pool into smaller prisms and a method to find the
calculations volume of one prism, e.g. a cuboid

M1 (dep) for a complete method to find the cross-sectional area OR for a method to
find the volume of more than on prism

M1 (dep) for a complete method to find the vol of the pool (= 70 (m* ) OR for a
complete method to find the depth of 60000L of water

M1 for method to find figure for comparison, eg distance between surface and top
of pool (“70” —*“60”) + (5 x 10)

C1 No, with correct calculations, eg water level is 20cm below top of pool
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